
SCHAFFERT MFG. CO., INC.  	 308-364-2607 or 800-382-2607

71495 rd. 397 ∙ indianola, ne 69034 ∙ 308-364-2607 or 800-382-2607 ∙ fax: 308-364-2410 ∙ sales@schaffert.com ∙ www.schaffert.com ∙ 23 aug 2022
71495 rd. 397 - indianola, ne 69034 - phone: 800-382-2607 - fax: 308-364-2410 - info@schaffert.com - www.schaffert.com - Setp 18,2009

Rebounder covered by one or more of the following U.S. patents: 5,640,915; 5,918,557; 6,082,275; 6,283,050; 6,453,832, 6,763,773 and 7,121,216.

SCHAFFERT MFG. CO. INC. - phone: 800-382-2607 - fax: 308-364-2410

REBOUNDERTM MOUNTING INSTRUCTIONS

Krause 5200/5250/5500 Drills
(Read Instructions Completely before Beginning Installation)

Before working on your planter or drill
DANGER: when storing or working on the planter always install cylinder stops or place the planter on stands to prevent personal injury or
damage to the Rebounder. WARNING: do not roll back or back up the planter in or on the ground as this can result in damage to the
Rebounder.

Mounting Instructions
Before you begin, verify all items listed in the “package contents” table.
NOTE: See, HELPFUL HINTS FOR MOUNTING REBOUNDERS TO DRILLS

Step #1: remove one disc from each drill unit so Rebounder and bracket can be
installed properly. You may also need to remove 1/2 of the rotary scraper
to gain access.

Step #2: place the 5/16” x 4 1/2” bolt into the bracket Then slide the bracket into
place in the dry fertilizer chute of the drill. Put the flat iron on top of the
bolt and tighten nut against flat iron. Assemble the Rebounder with the L-
bracket and bolt the Rebounder to the bracket. See reverse side for correct
depth settings. Example: with new discs, a starting point would be to try
the 4th and 5th holes up from the bottom of the Rebounder and support
plate, and the 1st and 3rd holes from the bottom of the bracket. If discs
are worn, make adjustments accordingly.

Step #3: set planter on flat surface, the tail of the Rebounder should be about 3/8”
off the floor or flat surface. Tighten the nut on the Rebounder.
Rebounder and bracket will not work if dry fertilizer is used on drill.

Optional fittings are available for fertilizer/chemical applications. Options
include, Y-Not Split-It, Hose Holder, or the Straight Shot, each available for an additional charge.

Rebounder Package Contents
(per single row)

Item Quantity
Rebounder. . . . . . . . . . . . . . . . . . 1
1/4 x 1” bolts . . . . . . . . . . . . . . . 2
L-bracket . . . . . . . . . . . . . . . . . . . 1
1/4 whiz nut . . . . . . . . . . . . . . . . 1
1/4” nut . . . . . . . . . . . . . . . . . . . 1
Instruction Sheet. . . . . . . . . . . . . 1

Bracket Package Contents
(per single row)

Item Quantity
Bracket . . . . . . . . . . . . . . . . . . . . 1
5/16 x 4 1/2” bolt . . . . . . . . . . . 1
Flat iron w/hole. . . . . . . . . . . . . . 1
Lock nut . . . . . . . . . . . . . . . . . . . 1

5/16 x 4 1/2” bolt

L-bracket

Rebounder

bracket

Final Assembly



SCHAFFERT MFG. CO., INC.  	 308-364-2607 or 800-382-2607

71495 rd. 397 ∙ indianola, ne 69034 ∙ 308-364-2607 or 800-382-2607 ∙ fax: 308-364-2410 ∙ sales@schaffert.com ∙ www.schaffert.com ∙ 23 aug 2022


